
A

3.

1, The main Occupation of Palcolithic
people is

2.

HSSCCET MAINS GROUP 55 (SUPERVISOR CIVIL)

(A) Hunting
(B) Agriculture

(D) Animal Husbandry,

(C) Pottery making

(E) Not attempted

The bearing of a line in the direction
of the progress of survey is called
(A) Back bearing
(B) Reverse bearing

LCj Fore bearing
(D) Front bearing
(E) Not attempted

The maximum number of vehicles ona road that can passa given point inan hour is defined as the
road lane.

A Capacity

(C) Power

(E) Not attempted

(B) Stops

4. Accelerators, normaly
setting tme of concrete.

A Increase

(C) Reduce

(A) 1°

(C) 5°

(D) None of the above
(E) Not attempted

the horizontal.

(B) Inefficiency

(D) None of these

5. A pitched roof is one where the slope
in any plane exceeds

(E) Not attempted

of

B 7°
(D) 10°

the

to
5.

eT ?

(B) Ffa

(D) ITeT.
(E) 3494fea

(A)

(B) fRat fauf
(C) R faztT
(D) he faf

fafi

(E) 34JIAT

(A) THT
(C) f

(A)
.

(B) Tà

(E) 39fera

(A) 1°

(C) 5°

(E) 3iT

(B) 3444GI

(B) 7°

CG–WS24

(D) 10°
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8.

6. What is the function of a ripper on abulldozer ?

7.

,
A To push earth and rocks
(B) To load materials onto the machine
(C) To crush hard rock
(D)To move freely on marshy land

2 E) Not attempted

The

,A Foundation
(B) Plinth
(C) Beam

part of a structure that transmits theb aH HaRT H f sS load to ground to support the
Superstructure.

of a building is the

(D) None of the above
(E) Not attempted

Carpet area of residential building is
50% to 65 % of

(A) Plot area

(B Floorarea

Sf (C) Plinth area

(D) Site areaRS
(E) Not attempted

E3

9. What is the recommended minimum
spacing between hatching lines?

(B) 0.7 mm or less

A Lessthan twice the thickness of

the heaviest line in the drawing

E

(C) More than twice the thickness of

the heaviest line in the drawing

(D) There is no recommended
minimum spacing

(E) Not attempted

(E) 34941T

-3

7. HRG T

(A) 51337A

(B) f

(D) 344TÀ i
ene (E) 379Tare;oszsiO

50% 65% zlat N

(A)Rife yfe
(B) R Tfun o

(D) HIZ ytar
(E) 39Anfea

CG– wS24

T?

(B) 0.7 t sH AH

(E) 34941fra

A
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10.

11.

12.

is a type of semiconductor
memory that uses bi-stable latching
circuitry to store cach bit.
JAY Dynamic Random Access Mcmory

(DRAM)

(B) Display Data Random Acccss
Memory (DDRAM)

(C) En Route Automation

(D) Static Randon Acccss Memory (SRAM)

(E) Not attempted

Modernization (ERAM)

Everybody in a room shakes hands with
everybody else. The total number of
handshakes is 45. The total number ofpersons in the room is
(A) 9
(C) 5

(E) Not attempted

Characteristic compressive strengthof 15 cm cube after 28 days,
expressed in
(A) N/mm
(C) N-mm
(E) Not attempted

(A) Ductility
(C) Porosity

material to restore its initial form anddimensions after the load is removed.

(E) Not attempted

(B) 10

(D) 15

(A) Compass

B N/mm²

(D),N/mm³

is the ability ofa

(B) Dumpy level
C) Theodolite

Br Elasticity

measuring horizontal and vertical
angles.

(D) Hardness

is primarily used for

(D) Fly levelWES 2 t:
(E) Not attempted3

-4

10.

(A)

(sstrUH)

(D) (qHAU4)
(E) 3494TfA

(A) 9

(C) 5

(E) 34941fea

12. 28 tet TG 15 Ht q fayIgaI

(A) N/mm
(C) N-mm
(E) 349TfT

(A) IA
(C) HTT
(E) 349TfRr

(B) Guft a
(C) fruistIZ

(B) 10
(D) 15

(B) N/mm?
(D) N/mm³

(E) 394feacs

(B) a

(D) stT
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15.

18.

16.

Which of the following is not a type ofsteel bridge ?
(A) Suspension bridge
(B) Steel truss bridge
(C) Steel girder bridge

o) Segmental bridge
(E) Not attempted

The exchange of services, information
and product from a business to a
Consumer is

(A) C2B

j B2c
(E) Not attempted

17. Which number will comne in the place
of question mark ?

\63/

(A) 190

(B) 221
(C) 236

AD) 255

31

(E) Not attempted

(A) Soil pipe

is a pipe which is used to

provide flow of air to or from drainage
system.

B Vent pipe

(B) C2C

(C) Water pipe

(D) B2B

(D) Waste pipe

(E) Not attempted

-5

16.

18.

Ti?

(D) i fig
(E) 34Yfta

(A) C2B

(C) B2C
(E) 34941fra

127

(A) 190

(B) 221
(C) 236

15ise

31

oD) 255:
(E) 344T

(A) ft YIET
(B) d 4

(D) 44RT2 YY
(E) 394nfa

CG–WS24

(B) C2C
(D) B2B

A
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19. Additional moulding provided under
the nosing to improve the elevation of
step and to provide extra strength to
nosing end of stair is called

(C) Going

A) Scotia

(E) Not attempted

UA Counter sinking

20. Which drilling operation provides a
tapered entrance to the hole ?

B Tapping

SerCore drilling

aD) Counter boring

(E) Not attempted

(A) To color surfaces

21. What is the main purpose of varnish ?

(B) To protect surfaces from damage

(B) Flight

(C) To provide a matte finish

(D) Sofit

, To provide a shiny finish

(E) Not attempted

called a

22. What is the angle between the three
mutually perpendicular edges of a
cube in an isometric drawing?
(A) 90° VB) 120°
(C) 180 (D) 360°

(E) Not attempted

23. The machine parts of the computer is

(A) Software
B) Hardware

(C) Bits
(D) Data
(E) Not attempted

-6

(A) F1fla
() itg
(E) 34NATfa

(A) 6132 fifša
(B)

(D) IS atft

osi (E) 39ATea

(E) 391fT

(A) 90°
(C) 180°

(E) 394Tf

(B) ISQT
(C) fazY

(D) ta
(E) 39ATTd

CG-WS24

(B) IZ
(D) i

(B) 120°
(D) 360°
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26.

7.

24.

25.

are saprophytic protists.SAY Dinofagellates
(B) Euglenoids
(C) Protozoans
(D) Slime moulds
(E) Not attempted
Size of concrete cube for comprcssiontest is
(A) 100 x 100 × 100 mm

B) 150 x 150 × 150 mm
(C) 150 x 100 x 100 mm
(D) 120 x 120 x 120 mm
(E) Not attempted

What is the function of hydraulicfluid in an eXcavator?F
(A) It powers the cab and rotates thehouse
(B) It moves the undercarriage

1ej It lifts and lowers the boom and
bucket

(D) It controls the excavator's
steering

(E) Not attempted

are end supports of the
superstructure of a bridge.

(A) Wing - walls
(B) Piers
() Approaches

AD) Abutments
(E) Not attempted

(A) m
(C) kg

.
Unit of measurement of Damp proof
COurse is

(E) Not attempted

LB} sq.m

(D) cu.m

24.

26.

27.

(A) SITYftee
(B) qoÍs
(C) aiaiT
(D) 7H ng
(E) 34441fra

(A) 100 x 100 x 100 ferft

(B) 150 x 150 x 150 fef
(C) 150 x 100 x 100 fHft
(D) 120 x 120 x 120 rf
(E) 349ATÍfra

(E) 39fera

3 (B) fi
(C) wiH
(D) eiA
(E) 3491fra

(A) m

(C) kg

CG– WS24

(E) 4NART

(B) sq.m

(D) cu.m
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29.

32.

30.

What is the angle between the two
cutting lips of a twist drill ?

(A) 90°

Ler 118•

(E) Not attempted

Manav Rachna International University
of Haryana was carlier called as

(A) Kurukshetra Institute of Technology
(B) National Institute of Technology.
(e Career Institute of Technology

and Management

(E) Not attempted

(D) Lingaya's University

31. The Scientific study of rocks iscalled as

A Petrology
(B) Pathology

(B) 100°

(D) 135°

(C) Pedalogy5(

(E) Not attempted

(D) None of the above

(A) Cleat

Small wooden blocks fixed on
Pincipal rafter to prevent purlin
from sliding are called

(C) Ridge
(E) Not attempted

(A) Sapwood
(C) Cardboard

(E)Not attempted

B Batten

33. A wood panel glued under pressure
from an odd number (usually 3 to 13)
of layers/piles ofveneers is known as

(D) Hip rafter

(B) Hardwood

D Plywood

-8

(A) 90°
(C) 118°
(E) 3494Ifera

(D) feit fayafaarr
(E) 349fer

(4) tgtiit
(B) et

(E) 3494If

(A) fte
(C) fa
(E) 3494I

(4) ugE

(B) 100°
(D) 135°

(C) IŠA

(B)

CG- WS24

33. fafr 5 faHHI (3AHT R 3

(D) ay I

(B) TÉgs
(D) ISgs

(E) 394tgmessi
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34.

35.

Which of the following is a feature ofevery plain scale ?

(A) The zero is placed at the cnd ofthe last division from left side(B) The scale is divided into uncqualparts
(C) The sub-divisions are marked inthe last division from zero to left

side

36. A

D) The zero of the scale is placed at
the end of the first division from
left side

(E) Not attempted

What is the function of a pipe laying
machine ?

(A) To push earth and rocks

(B) To load materials onto the machine

(C) To crush hard rock

(D Tolay down large steel pipes

(E) Not attempted

is the reference point of
known elevation.

Bench Mark
(B) Datum
(C) Back Sight
(D) Line of Sight
(E) Not attempted

7 The depression or bend provided in
a drainage system which is always

full of water and prevents the entry

of foul gases into the atmosphere is

termed as a S

y (B) Sink(A) Tap

Trap
Not attempted

(D) Water closet

-9

34. frferfa -f fagqI HEH

35.

(E) 349ATfera

(E) 39TfrT

(A) 4
(B) Se4

(E) 39fera

(A)

(C)

(E) 3494Tfa

(B)

A
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42.

45.

What are the differcnt matcrials uscdfor manufacturing bricks accordingto British Standards?
(A) Only fired clay
(B) Fired clay and concrete
(C) Fired clay and calcium silicate

D) Fired clay, calcium silicate and
Concrete

(E) Not attempted

43. Purpose of providing
divide the total length ofbridge ontosuitable spans with minimum
obstruction to the streamof river.
(A) Abutments

1Br Piers
(C) Pile bents
(D) Approach
(E) Not attempted

44. Atleast
opposite walls serve effective
ventilation.

(C) Four

(E) Not attempted

(A) Loop roads

(B) Ring road

windows on the

To enable free movement of traffic
around an urban area, a circumferential

road is constructed which is called

(D) Trunk road

(B) Three

(E) Not attempted

is to

(D) Five

e) By - pass roadET

-11

43.

Gt ?

(D) ft fr, fAYH ftfeaz At

(E) 34Tfera

(B) frf
(C) YI5T dH
(D) a
(E) 3494if

(A)

(C) R

.ts

bel (E) 39nfera

CG – WS24

(D) s

(E) 39ATa

y (B) H

(B) fsog snh
aibirrc iertesht

(D) i

A
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49.

46.

50.

47.

What is paint ?
(A) A mixture of water and oil

(C) A type of wood varnish

A dispersion of pigment in drying
oil

(D) A solution of salt in water
(E) Not attempted

technique permits the direct
reading of any printed character
without any special ink.
(A) Magnetic-Ink Character Recognition

(MICR)

B) Optical Character Recognition
(OCR)

(c) Optical Mark Recognition (OMR)
(D) Mouse/keyboard Capture

Recorder (MCR)

48. Mercury cell suitable for low current
devices like hearing aids, watches,
etc. consists of as anode.

(E) Not attempted

(A) Siiver-mercury amalgam
B Lead-mercury amalgam
(c) Pt-mercury amalgam
(D) Zinc-mercury amalgam
(E) Not attempted

Choose the option which most closely
resembles water image of the given
word.

mondayKE
(A) yadno m B Vsb O m

(C) ABquoIJ
(E) Not attempted

Maximum permnissible F.A.R. forIndustrial building is

(A) 1.2
(C) 0.7
(E) Not attempted

(B) 2

CeY 2.5

-12

46. Y

IŽ ?

47.

(E) 3494fea

(A) rpiteh-j6 ttfrA
(B) HÍet 4 ttfNT (3ATfiAT)

(E) 349Tfea

48. f faga yfrat t gqu gfet, yfsi

(D) HdI-yR fAATA
(E) 3491fea

m onday
bsilsa(A) y a dnom

(C) Aeq uo
(E) 34441fer

(A) 1.2
(C) 0.7

CG– WS24

(E) 49TtT

B) Vsbao m

(D)

(B) 2
(D) 2.5
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51.

52.

53.

is the inward transSverseslope provided throughout the lengthof the horizontal curve by raising theouter edge of the pavement withrespect to the inner edge.
A Camber

(B) Gradient

(C) Super elevation
(D) Stopping distance
(E) Not attempted

is a square or rectangularblock of stone or concrete placedunder beam or truss, to spread theload over a large area of the wall.
4 Gabble

(C) Template
(E) Not attempted

is a smnall metal plate with

A) Tingle plate

three fingers at one end used to take
up the sag of the line.

(B) Scutch plate

(C) Club plate

(D) None of the above

(E) Not attempted

(A) 0.7 to 1.5 tons

(B) Cleat

54. What is the approximate operating
weight of a compact or mini excavator ?

1.5 to 3 tons

(D) Verge

(C) 3 to 5 tons
WD) 0.7 to 7.5 tons

(E) Not attempted

-13

51.

53.

(A) hrar
(B) aIT
(C) yR yferàyr
(D) If fsŽu
(E) 3494rer

(C)

(E) 394fera

(E) 9fT

(A) 0.7 H 1.5 A
(B) 1.5 H 3A
C) 3 5a
(D) 0.7 #7.5A
(E) 39Tfta

CG- WS24

(B) fte
(D) f

A
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S6.

57.

55.

58.

refers to the software whose
source code is available to customcrs
and itcan be modified and redistributed
without any limitations.

A Open Source Software (0SS)
(B) Freeware
(C) w3C
(D) Proprietary software
(E) Not attempted
On 2nd October 1959 Jawaharlal Nehru
officially inaugurated the establishment
ofPanchayati Raj bodies for the first
time in India in this State.
(A) Tamil Nadu
(B) Karnataka

Vc) Rajasthan
(D) Himachal Pradesh
(E) Not attempted

A horizontal layer of stones or bricksis known as
(A) Course
(C) Bond
(E) Not attempted

(A) Tallies

1Fl(

(C) Knots

Chain is composed of piece of
galvanised mild steel wire 4 mm
diameter called

(B) Joint

(E) Not attempted

WOoden articles ?

Bed

(B) Rings

59. Why is paint applied to metallic and

(A) To make them heavier

Links

(B) Togive them a better smell
I(e) To protect them from corrosion

and improve their appearance
(D) To make them more brittle
(E) Not attempted

-14

55.

58.

(B) 6à
(C) W3C
(D) TIZt aía
(E) 34941fera

(A) afreg
(B) f
(c) TH

(D) faHIG TI
(E) 3491fera

(A)

(C) is
(E) 4JAIT

(A) rfi
(C) e
(E) 349ATta

(E) 39ATT

CG-VWS24

(B) ise
(D) S

(B) RT

(D) fE
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60.
The process of connecting metal parts

by fusion is called

A Welding

(B) Bolting

64.

(C) Riveting

(D) None of the above

(E) Not attempted

61. Mix proportion ofM20grade concrete is

A)
1:1.5:3

(C) 1:1:2

(E) Not attempted

62. Building having height more than

25.0m and less than 30.Om, Front

space width is

(A) 5m

(C) 3m
(E) Not attempted

1:20
(C) 1: 1000

(E) Not attempted

63. Which of the following is as
recommended enlarged scale

according to BIS?

an intention to

A

trouble to the user.

Malware

(B) Virus

(B) 1:2:4

(C) Worms

(D) 1:4:8

is a software developed with

damage hardware

devices, steal data or cause any other

(D) Ransomware

(E) Not attempted

LB 20Om e
(D)

(B) 8: 1

1Om

(D) 20 :1 |
L

63.

64.

(A)

-15

(B)

afrT

(C) fafar

(E)
3H9Ifera

(A) 1:1.5:3

(C) 1:1:2

(E) 34941fa

62. 25.0 fa 3fecs 3it 30.0 fa À o4

(A) 5 f
(C) 3 t
(E) 394IfT

(A) 1:20
(C) 1:1000
(E)

(B) IH
(C) aRf

(B) 1:2:4

(D)

(D) 1:4:8

(E) 394T

(A) e sgel

(B) 20 ft
(D) 10f

(B) 8:1
(D) 20: 1

A
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60. The process of connecting metal partsby fusion is called

A Welding

64.

(B) Bolting
(C) Riveting

TES (D) None of the above
(E) Not attempted

61. Mix proportion ofM20 grade concrete is
A) 1:1.5:3

(C) 1:1:2

(E) Not attempted

62. Building having height more than
25.0m and less than 30.0m, Front
space width is

(A) 5m
(C) 3mn

(E) Not attempted

(C) 1: 1000

63. Which of the following isa

(E) Not attempted

LAMalware

(B) 1:2:4

recommnended enlarged scale
according to BIS ?

A) 1:20

(B) Virus

(D) 1:4:8

(C) Worms

(D) Ransomware

B 20m &

(E) Not attempted

(D)

is a software developed with
an intention to damage hardware
devices, steal data or cause any other

trouble to the user.

10m

(B) 8:1
(D) 20:1 i

8
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62.

(B) anfa
(C) taf

64.

(E) HTAIfra

61, M20 T% HIsbre a fAut 34441

(A) 1:1.5:3
(C) 1:1:2
(E) 34941fera

(A) 5 f
(C) 3 t

(E) H9Ta

(A) 1:20
(C) 1: 1000

(E) 394fa

(A) Arae
(B) H

(C) qH

(D)4a

CG –WS24

(E) 39T

(B) 1:2:4
(D) 1:4:8

(B) 20

(D) 10

(B) 8:1
(D) 20: 1

A
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65. Which of the folowing extension is

A

used to save the excel files ?

(A) .docx

(C) -pptx
(E) Not attemptcd

66. Haryana is the first State to adopt

VA) Mahila Police Volunteer Initiative

B) E-governance initiative

(C) Mobile police stations

(D) None of the above

(E) Not attempted

67. Deviation by a prism is least for

A) Violet ray

(C) Red ray

1(B) xlsx
(D) .in

(E) Not attempted

(A) Shola Forests

68. The type of forests found in the areas
of coasts influenced by tides

(C) Desert Forests

(B) Green ray

(B) Evergreen Forests

TB) Mangrove Forests

E) Not attempted

(D) Yellow ray

(B) Bulldozer shovels

69. Which type of bulldozer is suitable for
use on marshy land ?

(A) Large sized crawler dozers

) Swamp bulldozers

(E) Not attempted

(C) Pipe laying machines

66.

-16

(A) .docx

(C) pptx
(E) 39Afera

(B) $-f YET

(E) H9AIfa

(D) 344di 1 Ti

(A)

(C)

fsU
T fU

(E) 39TfT

(B) HGR GA

|ab (E) 31941G

fer HaR3gh ?

(E) 349ATfeT

(B) xlsX
(D) .in

f aGI?

WS24

(B) t fou
(D) it feu
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72.

70.

71.

74.

The space on both sides of the
parriage way tOprotect the road is

known as
A) Shoulders
(C) Camber
(E) Not attempted

(A) Plinth space index
(B) Floor space index

allowed to the plot area available.

uc) Plot space index
(D) Space index

(E) Not attempted

is the ratio of built

Aggregate retained on

LA 4.75 mm

(C) 4.25 mm

73. The

is identified as coarse aggregate.

(E) Not attempted

(A) Colour
(B) Length
(C) Strength

) None of the above

of steel is greatly reduced
at temperatures which are commonly
attained in fires.

(E) Not atternpted

(B) Formation
(D) Alignment

(A)_Contouring
) Levelling

up area

(C) Tacheometry
(D) Triangulation
(E) Not attempted

sieve

is the branch of surveying
which deals with the measurements
of relative height or depth of different

point on the surface of the earth.

(B) 4.5 mm

(D) 4.75 cm

-17

72.

73.

(C)

74.

(E) 49rftrr

(D) sY
(E) 34941fera

(A) 4.75 frft
(C) 4.25 fA
(E) H9T

(A)

co (B) qTŠ

(C) ftE

(E) 34eT

(B) af
(C) ig
(D) aVIRA
(E) 394Ta

CG–WS24

(B) 5rgA
(D) 34AIiz

(B) 4.5 ft
(D) 4.75

A
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81.

82.

83.

84.

85.

At places where the
cofferdams

cannot bedewatered
successfully,

are sed.

the
AAY

Caissons

(B) Skew bridges

(C)
Wells

(D) None of the above

(E) Not
attemnpted

Water absorption should not exceed

per cent of its dry weight

when kept immersed in water for

24 hours.

(C) 20
(E) Not attempted,

A Inclined

When the circulation is within the

same fioor, it is called
circulation.

(C) Direct
(E) Not attemnpted

(A) Float
(B) Trowel

-, and itsTopping concrete is spread evenly

with the help of a

surface is thoroughly tampedand

fioated with wOoden floats till the

cream of cOncrete
comnes at the top.

(C) Masons square

D) Straight edge

30(B)
(D) 40

(E) Not attemnpted

(A) Span
ej wing– walls

(E) Not attempted

(B) Vertical
DHorizontal

are the walls constructed

on both the sides of the abutmnents to

retain the embankment of approaches

and also to protect them from the
wave action of the streamwVater.

(B) Approaches
(D) Apron

81.

82.

-19

83.

84.

85.

(A) 4H
(B)
(C)
(D)
(E)

319YIA

(A) 10
(C) 20
(E) 319Ita

(A) yT 311
(C) SH
(E) 319AT

(A) ile
(B)
(C)H4 A3

(D)
eVgT

(E) 349rfT

(B) 30
(D) 4o

(B)
(D) afat

HGG HHH

(A) Hittegrse (B) AaH
(C) fåt-alqH
(E) 349Temee seol

o (D)
H

A
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86. If

87.

88.

is present in excess raw
bricks hrink and warp during drying
and burning.

tA Slica

(C) Fly ash
(E) Not attempted

(A) Core drilling

Which drilling operation is used for
sizing and improving the geometry
and finish of a previously drilledhole ?

(B) Step drilling
C) Reaming

BCounter siniing
(E) Not attempted

e. R , N, L, ?, ?
(A) J,G

Which letters will come in the place
of question marks ?

g (C) K,H

(E) Not attempted

(A)Panipat
(B) Sonipat
(C) Kurukshetra

89. The bugle of the first war ofindependence
in 1857 was sounded first by the
people of Haryana at

L) Ambala

(B) Alumina

(E) Not attempted

(D) Lime

O (C1 type)

B) J,HE H

(D) K,I

90. Which type of line is used for drawing
visible outlines and visibleedges ?
SA) Continuous thin line (B type)
(B)_Hatching line (B5 type)

(E) Not attempted

) Continuous thick line (A type)
(D) Continuous thin freehand line

-20

86. yf Hft

87.

88.

(A) feferahI

(E) 39ATfera

(B) ÈY fgfT
(C) ifiy
(D) Is fif
(E) 3494AT

T, R, P, N, L, ?, ?

(A) J,G

(C) K,H
(E) 9IT

(A) 9I-fty
(B) Hriva

(D) 34-IT
(E) 39Af

89. afUT SRI 1857 yYH GGHAI

(B)

(B) fa

CG- WS24

(D) l4

(E) 394Tfa

(B) J,H
(D) K,I

(A)fGR Yieftt (B Y6R)
TIA (B5 a)
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92.

A Going
(C) Nosing
(E) Not attempted

per day.
(A) Heavy traffic road

carry 70 to 250 vehicles

(B) Medium traffic road
C) Light traffic road

(D) Very heavy trafficroad
(E) Not attempted

(C) 0.5 m

(B) Scotia
(D) Flight

3. Least count of levelling staff is
A 0.05 m

(E) Not attempted

(E) Not attempted

+. A stair turning through two right
angles is known as

T) Bifurcated Stair
(B) Half-Turn Stair
(C) Quarter-Turn Stair
(D) 3-Quarter-Turn Stair

0.005 m
(D) 0.0005 m

A) 19 x9 x 9 cm

(B) 20 x 10 x 9 cm

(C) 20 x9 x 9 cm

(D) 20 x 10 >x 10 cm

(E) Not attempted

is a fairly impervious
barrier constructed across the river
or a natural drainage to create an

artificial lake or reservoir behind it.

(A) Canal (B) Bridge
ej Spillway(D) Dam

(E) Not attempted

Size of a standard brick (modular

briçk) should be

92.

95.

21

(C) fi
(E) 349Tfa

(C) rebl YIAIAIG HGH

(E) 3494rTA

4 Attfe 70 250 IH YiiI

(A) 0.05

(C) 0.5 t

(B) ¿5-i tdi
(C)

(A)

(B) atf
(D) ISe

(D) 3-1L- s

(E) H94fera

(E) 394fer

(A) 19 x9 x9 t

(B) 20 x 10 x 9

(C) 20 x 9x9

(B)

(D)

(D) 20 x 10 x 10 t

(E) 39AfT

0.005 ft
0.0005 fT

(B) yi
(D) aiq

A
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97.

99.

The order and degree of the differential

cquation

(A) order = 2
degree =3

(B) order = 2

degree = 4

order = 2
degree = %

(D) order = 2

degree

+ sin

(E) Not attempted

98. Haryana has a total of

(A) 6

tehsils at Present.

(C) 78

undefined

B) Soil Pipe

(E) Not attempted
The

(C) Vent Pipe

is any drainage pipe
that carries liquid wastes that do not
include human excreta.
(AY Waste Pipe

(B) 51

(Bj 93

(D) HorizontalPipe
(E) Not attempted

(A) Hardcopy
memory is called as

(B) Blank copy
(C)Printed copy

d'y
dx?

(P Soft copy

(E) Not attempted

revenue

)

97.

-22

99.

dx)

(A) h4= 2
feuft =3

(B) hH =2
euf = 4

+ sin/ dy

(C) hH =2

(D) hH =2

(BE) 3194T

(A) 6

(C) 78
(E) 3H9T

(B)

(A) 34ATE YS4

(D) af

Y

(E) 494Tra
Do. The programs and data present in the 100. Ht ÀNK SUH 3Ìt ša a

(B) aTÁ

CG -WS24

(E) 491fr

-dy
dx?

(B) 51
(D) 93
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is known as the brain of
ter.

Device

Processing Unit (CPU)
Device
Unit

mpted

the following was the lastmal ?
u Singh
cap Singh
y Singh
ith Singh
pted

akkolam'battle was

Pandyas

Rastrakutas
s and Pandyas
Pallavas
ed

Transfer Protocol
Transfer Protocol

Transfer Protocol
ransmit Protocol

bbtained from
DCcurs in the form

e

(B) Stucco
(D) Slate

iculture.
(B) River

) Road

80.

75.

76.

(A) _JY2 fšasH

(C) 3A132ye fsagu

(E) 349fta

(D) 1$ sfta fa
(E) 39fera

(E) 394frT

(E)349Tra

(4) frT
(E) 3494fra

(C) fafs
(E) 349fera

CG – WS24

(B) R
(D)

e

(B), T

81.

82.

83
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